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Fourth Semester B.E. Degree
Gomplex Analysis, Probabil

Time: 3 hrs

Note: I. Answer any FIVE fall
2. Use of Statistical ,.S

Finri K and i) P(X < 4), (-?<x<6)

b" The probability that a manufactured by a company will be defecti'ze is

pens are manuf'actured, find the probability that,
i) tsxactly 2 will be defective
ii) None wiil'be defective
iii) /.,.t least two r,vill be de{bctive (Use binomial distribution).

I of3

(07 Marks)
(07 Marks)
(06 Marks)

(07 Marks)
: x + iy, find (z)

(07 Marks)

(06 Nlarks)

between the real
(07 Marks)

into the points
(07 Marks)

(06 NIarks)

(0T llIarks)

onto the points

{07 Marks)

(05 Marks)

(C7 Marks)
i

-i-. if 12 such
10

/tLl 5 6X 0 1 2

5K 7K 9r( 1lK 13KP(X), .K 3K

(C7 I\'Iarks)

b

b.

c.

3 a. Discuss the transformation w = and show

ONE full

18MAT41

Feb./Mar.2022
istical Metlrods

Max. Marks: 100

eaclt module.

the

axis and a aty:x
b. Find the rvhich points Z

t)

line parallel to real axis
bilinear transformation

half

J



c. Fit a Poisson distribution to the set of observations

6 a. If X is a continuous random variable

t(x)=kx,0<x<2
:2k,2<x<4
=-kx+6k"4sx<6,

Find the valr"re of K and the

b. if the probability of a bad

piobability that out of
,.listribution).

c. In a test on 2000
ciistributed with an

the number of bulbs to
hours

v =a*bxtothe

18MAT41

(06 Marks)

given by

v 8fl3
-4r,{$F.sf{

i a. Fita

of the

data

x and
mean value

b. Find the correlation for the daEa below

, ih ,wf+"a!&a -

y 4$9ex:
oly arld r)

3&.u

(07 Marks)

(07 N'Iarks)

19.13 0"87y and

Correlatton coefficient
(06 Nlarks)

(07 Marks)

(07 Marks)

c Two regression
y:11.64-0
between x

&M

&"&."s,
,*"Wr. l"b-wtr"

i) mean

OR
I a. Fita degree parabo fo;ecffi

ilii:-rtlllllw,

n.&

6ffien
{'

competitors are ranked as follows:

Caiculate correlation

Find the regression onxandxon given below

..''1::.;.

the iank

c

i""#L
. i 1st/

. 'Mffi{

2
a
Jx 0 1

-&15f r22 60

2 314 ,,,5
6x 1

4 t]"v 4 2v 6

ltu
o 2 J 4x 1

J.J 4.5, .6,3,0 1.8

2
1J 4X 0 1

...,,,,7.3 2.5 6.3v 1 1.8

10 J 2 4 9 7 8x 1 6ls
5 18 1 2 J 10v 6 4le

48 5632 40.,:: 16
2.77 3.810.39 0.7s 1.23 1.91

1..,-aS$&"

r&jis*#

2 of 3

the table of values

(06 Marks)

(06 it{arks)

:,::a,. ',':

OR *, '..
with proba6ility function
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9 a. The joint probability distribution "rrffiffi variables

18MAT41

(07 Marks)
times. On the

(07 Marks)
6f 5 or 6 was

an unbiased

the fo table:

is 1570
life of
- l.

is shown belorv:

Find the marginal distributions of X and y verify that X and Y are stochastically
independent.

b" A die was thrown 9000 tirnes and a
assumption of random throwing, do

c. A certain stimulus administered to
blood. Pressures: 5, 2, 8, -1, 3 ')

accompanied by an increase
of to irs is 2.201?

10 a. A joiut 1S

Find i) distributions ii)
b. The

llowing
degrees

mcrease in
stimulus is
m the value

(06 Marks)

(07 Nlarks)
with a standard devration of 120

by it is 1600 hrs. use
(07 Marks)

s of fit at level of

(06 Marks)
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Time: 3 hrs.

Note: Answer

b. Apply Strassen's
computation.

/1

fo. p merge sort. Analyze its time efficiency. Apply the sarne
set of numb ers 4, 9,0, - 1 , 6, 8,9, 2, 3, 12 (10 ivlarks)

to multipiv the following matrices. Shou, the details of the

(10 Marks)
2

J

Io
B=l

l1-i+ls-wr,

.r *"i..r
{ie.-ili!iir*:'
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.d

,".ig$aitf,
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ffiffiffi

b.

C.

a.

b,

C.
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Max. Marks: 100

full qu e.stion from eoch m odu le.

a. Design an algarithrl
to sort the fullowing



!

4

OR
a. Apply topological sort on the following graph

methods

Fig.
b. Desing an quick

numbers 5, 3,

,$l.

5 a. Write
salne an opt
(Pr, pa, Ps) =
(1V1, W2, W3, W4, W5

b, What is Dijkstra's
Initial node is G

the same to sort the tbll:wing set of
(10 Marks)

ing gteedy approach and aPPIY the

5.m=6,

(10 Marks)

SA tillloiving graph.

18CS42

removal and DFS based
(10 Marks)
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Apply the
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Fig Qs'(p)
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.s'
(l0lVlarks)

algorithm to find minimum spanning tree.
(tr0 Marks)

6 tree. Write Prim's
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I
b. A message consisting of the characters given in

in a secured manner.

18CS42

to be transmitted r:ver a

(Branch label : left (0), rieht(1))(i)
(iD
(iii)
(iv)
(v)

9 a. What is

4-Queens
technique.

Construct Huffman tree for the
Device Huffman codes for the
Encode the text
Decode the text whose
Compute the effectiveness

Huffinan co
1000101

codes

des. ,"i*
"* 

$*ry3

.? (10 Marl<s)

7 a. Design an algorithm to find al shortest paths gi
dynamic programming Apply the same
path for the following cormected graph.

comected path using
to compute all pairs of'shortest

Q7 (a)) (10 Plarks)

iq*-B- m.&.4
td**,j

"tsi, +f
*.* J4*

.ri* fu.rr"u \

Apply the

(10 Marks)

transitive
belorv in

(10 Marks)

an example. Explain the technique of finding the niinimuni
(10 l{arks)

Module-5
List out two advantages of backtracking strategy. Considering

provide two possible solutions to this probiem using Lracl<tracking
(10 NIarks)

8

b. Define a multistage
cost path in a

Character A M R

Probability 0.4 0.2 0.3 0.1

trtem Weieht Value
1 10 60

2 20 100

J 30 120

* ruffit*
'4*"h'**e'

3 of 4
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(10 Marks)

ing backtracking
(10 Marks)

'' (10 Marks)
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10 a.

,r
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foll,riving assignment

graph shown in Fig.

technique.

b Explain

b1 Job2 Job3
27
43
81
69

o

9

6
5

Solve rhe

Person a

Person b

Perscln c
Person d

problerlr
Job4
8)
"l;I
4)

technique.

Li

(i)
( ii)
( iii)
(iv)
(v)
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